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(4) Al DAl 9y avid ydgadd wHdl wdisd
58 8.
(A) s (B) Heure
(C) ogds (D) [RaR
(5) WRil Gs1Mdl wRML GUR-L »is 1 dugdl-l AL 8.
1
(A) B (B) 6
1
© 1 (D) 5
(6)  HUBdlAL ettl wirdisi-l AU Uil Aval a3 H1dLdl
w4,
(A) (iR (B) xwRy
(C) ogds (D) s
(7) sWegRidl Hiusl AL QY 6,
(A) 100° (B) 180°
(C) 90° (D) 360°
(8) uMoly PASIRIAL €35 Rl HIY QY 8.
(A) 90° (B) 180°
(C) 60° (D) 360°
(9) Za A ZLb ¥ o €U dl dusl MU AL < €Y,
(A) slevsu (B) i-siil
(C) yousel (D) s s vl
(10) APORML mZP +mZQ +m/R=
(A) 90° (B) 100°
(C) 360° (D) 180°
(11) A FOX 4l ZO sievRl 8. ol OF =8 Al 9 OX =6
Al €1y dl FX = A1
(A) 10 (B) 5
(C) 15 (D) 20
(12) AABCHL AB=AC . Al AABC AsielL €.
(A) QRslal (B) slesiel
(C) unoUY (D) uxlaony
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(13) 50 WAL 24 3. 5+ 9eilwr 8.

(A) 5:3 (B) 3:5
) 1:6 (D) 6:1
(14) 501 10% %24
(A) 50 (B) 500
©€) 5 (D) 5000
(15) 1 &s2r = {2,
(A) 100 (B) 1000
(C) 10,000 (D) 1,00,000
(16) vdada-l uRMRk Yy 8.
(A) mr (B) 2r
(©) 2mr+2r (D) =mr+2r
(17) 3x—2pHidl 3y —2x ole sudi w4,
(A) x-y (B) 5x-35y
<€ y—x (D) 0
(18) R g=—1 4 A a® -1 Baa oY
(A) 1 (B) -1
<€) 2 D) 0
(19) (-1)"' =
(A) 71 (B) 70
€ -1 D) 1
(20) 2°x3°x4° =
(A) -1 (B) 234
(C) 2340 (D) 1
2 1A 2dal 8 usdl U4 QS ueL 44 G M) 20
(1) 02 deusiRl 2ARee sadd Wi dd ad @3zl saldl -
108 x 192
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(2) 4+3x A 5—4x+2x7 wammill 3x% —5x wd

—x% 2 + 5+ A ole S,

(3) 30 Hlez dous-l ouggaion DR ol vig-ll suyBl A drs
1 Hlex ugloll Rl o1de © -

(i)  wdid &stsa DAL

(i) oLl Rl Rar-AL eeMl 3. 40 ukiHle’? wiigl wr
Gougal-l v 2.

(4) () Asui @um, sl 2 N Fuog=- ARl 10:3: 12
8. dl AlsHi stela-l sl 2.

(ii) 2 2Alsul swelodd ax=t 3 A €A, dl Alstd ax-l kL.

(5) AABCHL £A=30° £B=40° x4 £C =110° APOR™MI
ZP=30° £0=40° »8 ZR=110°. s [endl 58 & 3
v 9 WHISL A ABC = APOR 9. g3l AL S 2 L xR ?

Al H A8l ?

(6) A 1]|m S, dl N3 635 susfni xd yeu o -

N

/K o . qoe"
N 1o / | uv 1 x
U) < /‘ 5 4 &= A / > &
/ L
(7) A5 aasddl Ad sl NA Rl Rd 258l 4
YL ™A | B3e | orde ola | RARMa | 81l | valsu
AR 1240 470 510 430 250
AL GHIR 620 320 320 250 105

(i) Ay wHRIHIY 4 [B-dot 21av €121, dot 2Udu Yl i

g @H s 7

(i) 58 Wd Al ay B B,
(iii) ™ Al 24 WUl el Adl Amiell g ay wie ® ?
(8) 2w 5 BBelaum 300 M Us%L 2 3 (Bellaud 250 wn 3
uwie . Aal 4 Balud 800 WM AdL A 4 Balud 150
A 30 we O, S8 Ay s wIal ?
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Answer any 10 MCQ from the given 20 questions :

ENGLISH VERSION

(Each carries 1.5 marks)
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4= 3=
© 4 ® 33
1.2 x 100 =
A 1.2 B 12
©) 120 D) 1200
The observation that occurs most often is called
(A) Mean (B) Median
(C) Mode (D) Range

15

What i1s the probability, the number 1 above the dice

come, when it throw in the air ?

A) B) 6

2

© 1 o
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(6) The post common representative value of a group is

(A) Range (B) Median

(C) Mode (D) Mean
(7) The sum of the measurements of the complementary
angles i
A) 100° B) 180°
©) 90° D) 360°

(8) The measurement of every angle of an equilateral
triangle are

A) 90° B) 180°

(C) 60° D) 360°
9 ZLa and £b are both , if both measurements

are not equal.
(A) Rectangle (B) Vertically opposite angles
(C) Alternate angles (D) Linear pair of angle

(10) In APOR, mAP +mZQ+msR=___
A 90° B) 100°
(C) 360° D) 180°

(11) In A FOX, ZO is a right angle. If OF =8 cm, and
OX =6 cm, then FX =

A 10 B) 5
©) 15 O 20
(12) AB=AC in AABC, then AABC triangle.
(A) Obtuse (B) Right angle
(C) Equilateral (D) Isosceles
(13) The ratio of 50 paisa and Rs. 5 is
A) 5:3 ®B) 3:5
©) 1:6 D) 6:1
(14) 10% of 50 means __ .
A) 50 B) 500
©) 5 D) 5000
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(15) 1 Hectare =

B) 1000

A 100
(C) 10,000 D) 1,00,000
(16) The formula for the perimeter of a semi circle =
A mr ®B) 2r
©) 2nr+2r D) mr+2r

(17) Substract 3 y —2x from 3x—-2y =

A x-y
© y-x

B) 5x-5y
O 0

(18) If g=—-1 so the value of at -1 =

A 1 B) -1
€ 2 D o0

19) (-1)"' =
A 7 B) 70
© -1 O 1

(20) 2°x3°x4°=
@ -1 B) 234
(C) 2340 O 1

2  Answer any four questions from the given 8 questions : 20

(1) Express each of the following as a product of prime
factors only in exponential form :

108 x 192

(2) From the sum of 4+3x and 5—4x+2 xz, substract

the sum of 3x2 —5x and —x2 +2x+5.

(3) A path 1 m wide is built along the border and inside
a square garden of side 30 m. Find :
@ The area of the path

@) The cost of planting grass in the remaining portion
of the garden at the rate of Rs. 40 per m2.

BBC-004-014118-014119 | 7 [ Contd...



(49) @) Chalk contains calcium, carbon and oxygen in the
ratio 10 : 3 : 12. Find the percentage of carbon in
chalk.

@) If in a stick of chalk, carbon is 3 g, what is the
weight of the chalk stick ?

B) In AABC, ZA=30° £ZB=40° and ZC =110°. In
APQOR, ZP =30°, £0=40° and LR =110°. A student

says that A ABC = APOR by AAA congruence criterion.

Is he justified ? Why or why not ?
(6) Find the value of x in each of the following figures if

[|m :

(7) Consider this data collected from a survey of a colony :

Favourite Cricket | Basket | Swimming | Hockey | Athletics
Sport Ball

Watching 1240 470 510 430 250
Participating 620 320 320 250 105

@1 Draw a double bar graph choosing an appropriate
scale. What do you infer from the bar graph ?
(1) Which sport is most popular ?
@ii) Which is more preferred, watching or participating
in sports ?
(8) Shyam bought 5 kg 300 gm apples and 3 kg 250 gm.
Mangoes. Sarala bought 4 kg 800 gm Oranges and 4

kg 150 gm Bananas. Who bought more fruits ?
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SSC-06 : SCIENCE CONTENT

(udsd 1.5 981
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(5)

(6)

(7)

(®)

ARl U8l wlea ueld 9 © 7

(A) °98» (B) sweillea

(C) il (D) M-l 213
AAnigfl 4 wiell Aelond wad s3I s o 7
(A) H™ (B) 4d3

(C) auy (D) Mmaldl

22 ¥ -l A & 7

(A) M (B) G-

(C) yar (D) asL

AA-unidl 58 Ad WA Gellod aaudl © 7

(A) Aser (B) s

(C) 2luser (D) [leaseur
Glsll UL WL oiAdl © 7

(A) seillea (B) el

(C) WA (D) AR
[salmsa adidlex seal auousd diumid Hdl as © 7
(A) 10°C ¢ 30°C (B) 35°C ¢l 42°C
(C) 40°C ¢ 50°C (D) 40°C ¢l 100°C
AAAniofl sdql ueld WAl yass © 7

(A) wllRes (B) wsil

(C) dlvig (D) dlsg

eRaL ul 2uadl A g 58 © 7
(A) opdly adr (B) eRud asd:
(C) (A) 1 (B) e (D) s uel ¢l
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(9) g A sl g & ?

(A) »RRs (B) Al»s

(C) dere (D) s ugl «dl
(10) dlo-il 3.

(A) dld dledad &3 e-d 9,

(B) ol dlevuq aig o-id 9.

(C) dwRad+ ag «l.

(D) uMiel s el <l
(11) °g8 41 sl ueld © 7

(A) Ay (B) &R
(C) a3 (D) dexa
(12) 1A U8l s4l olifis 381 & 7
(A) eRsq dlowag (B) laid ulong

(C) well-l aa adl. (D) el ¥
(13) clvisel sled eyl o © ?

(A) Fes0, (B) Fe,O,
(C) FeO (D) »is ugl gl
(14) a3l A3 [0 A8 (3L sdl sl Ay Gou~t 2y © 7
(A) li[su+ (B) slold 31dls1858
(C) 1531+ (D) -udalx-
(15) >0RWHi >uda dlaisiel sui adui sesl usll edl ?
(A) 1998 (B) 1999
(C) 2000 (D) 2001
(16) Asald (9] Adarll-l #éud 32dl sals usal sl 20d &© 7
(A) 6 sals (B) 12 saus
(C) 24 sals (D) 72 sdls
(17) Ayl e oL &3 & 7
(A) wuel (B) usi3
€) wu (D) ™
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(18) il sy g & 7

(A) Hlex (B) RAl Al
(C) [Bellaun (D) A%<
(19) 14l sul oleoisil ay Gudlol Ay © 7
(A) delo (B) CFL
(C) LED (D) s vl <l
(20) [agaBusel u &3 33 g S & 7
(A) ISI (B) FICC
(C) Agmark (D) KSK

2 Q3 2dal 8 uadl UG AS el 4+ Gr 2l (Mdsl 5 o ) 20
(1) wandol susfi alsd Al YA 24141
AL Sl (wdPril) @an As-l Ry s1ae0 agldl.

\®

(2)

(3) [Badlsa wilex-l vkt €131 @l 2 511 x4,

(4) Aux uGde-l gl dlvizdl od3 ysal adl 38R ANARLS
38R B d suldl.

[l d adl ellsfaBel 4.

ywni sa-s{l uBuL vuslt Alsd asld.

—~ —~ —~
~J N (@
~— ~— ~—

ot [agd uRuA 2 vedl [Agd uRua vied g 7 sl ulsd
AH Al

(8) (21) aAscud 3l Ad GgeA B o AnAdl.

(o) axcll auiRl ol g™l 22l 52 B, wxAdl.

ENGLISH VERSION

1 Choose the correct option from the following questions : 15
(any ten) (Each carries 1.5 marks)
(1) Which of these is complex substance ?
(A) Glucose (B) Carbohydrate
(C) Water (D) Amino acid
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(2) From the options given below which animal can digest

cellulose ?

(A) Human B) Dog

(C) Cow O Cat
3) What kind of tussar is this ?

(A) Silk (B) Wool

(C) Cotton (D) Jute

4) Out of the following which is the terms related to silk
production ?
(A) Sericulture (B) Mariculture
(C) Apiculture (D) Silviculture
(5) Which of this made by fibers of wool ?
(A) Carbohydrate (B) Fat

(C) Protein (D) Cellulose
(6) What is the range of clinical thermometer ?
(A) 10°C to 30°C (B) 35°C to 42°C
(C) 40°C to 50°C (D) 40°C to 100°C
(7)  Which of the following is conductor of heat ?
(A) Plastic (B) Water
(C) Iron D) Wood
(8 The air from the sea is called
(A) Land breeze (B) Sea breeze

(©) (A and (B) both (D) None of these
(9) Salt is by nature.....

(A) Acidic (B) Basic

(C) Neutral (D) None of these
(10) Lime water turns.......

(A) Red litmus into blue

(B) Blue litmus into red

(C) No change

(D) None of these
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(11) Which kind of substance is Glucose ?
(A) Base (B) Salt
(©) Acad (D) Neutral
(12) Which of the following is a physical change ?
(A) Melting of ice
(B) Melting of wax
(C) Formation of steam from water
(D) All of these
(13) What is the formula of rust ?

(A) Fe 0, (B) Fe,04
(C) FeO (D) None of these

(14) Name of the gas released when baking soda is mixed

with vinegar.

(A) Oxygen (B) Carbon dioxide
(C) Hydrogen (D) Nitrogen
(15) In which year was Odisha hit by a cyclone in the recent
past ?
(A) 1998 (B) 1999
(C) 2000 (D) 2001

(16) A cyclone warning can be issued...
(A) 6 hours in advance
(B) 12 hours in advance
(C) 24 hours in advance
(D) 72 hours in advance

(17) What is the reproductive part of the plants ?

(A) Leaf (B) Stem
(C) Root (D) Flower
(18) What is the unit of temperature ?
(A) Meter (B) Degree celsius
©) kg D) Second
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(19) Currently more bulbs are used ?

(A) Halogen (B) CFL
(C) LED (D) None of these
(20) Which marked is necessary on electrical appliances ?
(A) ISI (B) FICC
(C) Agmark (D) KSK

2  Answer any four of the following 8 questions in detail :

(each carries 5 marks)

ey

)
3)

4)

()

©)
()

@)
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Explain the human digestive system with the help of
a labelled diagram.

Various condition of silk warm (butterfly) life cycle.
Draw the figure of the clinical thermometer and explain
the structure and function of it.

Alteration of the iron blade in the solution of copper
sulphate is a chemical change.

Describe the various ways by which seeds are dispersed
with diagram.

Explain the process of flower flowing with diagram.
What is the meaning of a closed electrical circuit and
open electrical circuit explain with figure.

(@) How to create cyclone, explain briefly.

(b) Population reduces the level of ground water level.

Explain.

20



